fl’ -

4,

O EXTreme poi iNt<

(0,2) (35,9),(085)45,20), (8’4 25D

S5 FEim(es)a0 EF 12590 £F-=75 F=[875

b Yfa mee becouuse fhe slopt of the \mf

Cnainges, 50 0S4 noves posrively gudward

vl fomoNes tpniard a differerrt optimal poind
Qropn = )

EPAN

hY
ol
D

T HOF + 005 =00

F-0 8=10 F=l58-0

HOF+e0 &= 120D

F=D $=ap F-308=0
HOF+(0 8 =2H00.

S ee . fD S-HO FLoS-0

1o 20 30 dHo £ Lo 7

The neeoprimal poiny s ([82725)
The nen totad 1s 2950, S

\\\

.-.3 g()'-

e HoF+5DS = LoOO( 52>

QOO (20 03

08

ngDO (‘15'0\5 20 '
000

[There _gye now mMany

optimal Soludions.

[ Any ()om‘r nat la\;s)zr(

1 tne b 2+ 590D

,,bfﬁmtm o vt luding o w0 s o g

Sbrhe points, (8% 25) ond (95,00) tnat will

S

2108 o G maXimudn va m’;o{ 2000,

~-::9me,e e prohds et andsne ' hine. 5F+ 53-20

+hey 'MUST have the same glope So Z -0 =H0,

L0 - 50 _so 4Nnen gou Lnow Hnis mainmum

ﬁ,fo? will bt 20100 =2 000.




